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5| 18|BEXX(5AH) 10 14,799 1,644 (1,644)
5| 21| HMSEERHEENE (A ~3A5) 330,000 328,356
6| 16|EX K (6 A %) 10 12,449 1,383 326,973
6| 29| FHIBFEBBEBER(TE— AR RN (110,000) 216,973
7| 8|EAKEHE (SHIE6A—FHMIEIAL) | 8 27,500 27,500 189,473
7| 16|BRR(7ASH) 10 13,470 1,496 187,977
I21|LAARIE L& -TH SHEA 8 4,000 4,000 183,977
7| 26|USBAE!)— 7 1,869 934 183,043
7[ 26|74V LRIV R 7 999 499 182,544
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8| 18|ERK(8A %) 10 19,009 2,112 177,879
8| 27| MF IFN—F T4 RY 7 17,480 8,740 169,139
9 16| ERHK (9 A 10 18,661 2,073 167,066
9| 27|#EFHEREN(7TAD) 10 4,626 1,542 165,524
10| 18|ERMK(10A %) 10 17,718 1,968 163,556
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